What Were the Headlines After a Mad Scientist Trained
Two Eggs to Attack a Candy Store
Wlth Sharp Stlcks ?

Solve each system of equ.:tlons below by graphmg Cross out

the box containing your answer. When you finish, print the letters
from the remaining boxes in the spaces at the bottom of the page.

@ x+2y—

dy=3x+12

®y='§;x-1 @y=%x—3

=—X+4 =3, _
y ¥ =35X 1

@) y=-2x+1 @) y=2x | (6) x=3-3y (9) 4x+3y=-15

y=x-5 x+y=3 X+3y=-6 y=x+2

T™W EG 0Ss GS WE ET SP TR
(—4, 0) (=4, =5) | no solution 4, 1) 38, 1) (-2, —4) (—1, 6) (-3, 1)
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Why Dees the President Put Vegeta bles in His Bl

>3m<<ma 1-6:

4, 2) LD
6, —1) NG
A, 2) TR
(4, 8) HE
(1,-3) HO
(6, —3) NT
(5, 3) " FO
(9, 2) Pl
(7, 3) TH

\

Soive mmo: system of equations Um_oé by the mccmzaro: method. m_:a the
solution in the nearest answer column and notice the two letters next to it.
Print these letters in the two boxes at the bottom of the page that contain

the number of that exercise.

@ y=2x

X+y=12

@.xn@lA

X+2y=9

@ (...UNXW..M,

dx—-y=7

O mx...@ns

x=4y + 1

@ y=-x+5

x—4y =10

(7) -2x+3y=14

X+2y=7
® ox-y=-

ox + 2y = 15
(@) x+y=1

2X—y=—2
(10) 5x—3y = —11

Xx—-2y=2
@ x-y=3

6x + 4y = 13
(12 2x-y=16

-X+2y=-8

aRder?

>Jm<<mqm 7-12:
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